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EELAOAMEE RIAL (e) 6, 205 7,006 13, 211
BEYHOMEREEE (b)) 0 0 0
BEYAOAHEER (¢” ) = (e) + (b)) 6, 205 7,006 13, 211
YHEREER (7) 1,807 1,658 3, 465

WHAHEEER (1) 1, 637 1,916 3,553

MMEBEREES (D) 35 56 91

BEEK (1) = (7) + (1) + (7) 3,479 3, 630 7,109

FEA L (g) = (e7 ) - (f) 2,726 3,376 6, 102
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B H OEMREIR D AHEER (E7 ) = (E) 3 9 12
TESNEZE N DR EFE R (EAMREEBHESNREANDENICB T 2B EEHK)  (F) 0 1 1
FHEE R (G) = (E7 ) - (F) 3 8 11
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BEEYAOAHELAR (X7 ) = (e’ ) + (E7) 6, 208 7,015 13, 223
BEEREE (Y) = (f) + (F) 3,479 3,631 7,110

FEHEL AR (2) = (X7) - (Y) = (g) + (G) 2,729 3,384 6,113




